00 SSE 35

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018

Part - 111
ECONOMICS
Maximum : 80 Scores -
Time : 2% Hours
Cool-off Time : 15 Minutes
(General Instructions to Candidates : [

* There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 24 hrs.

= You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time .

» Use the 'Cool off time’to get familiar with questions and to plan yvour answers.
* Read questions carvefully before answering.
v All qguestions are compulsory and only internal choice is allowed.

« When you select a question, all the sub-questions must be answered from the same
question itself.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.
» Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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Score Score
Questions from 1-9. Attend all lqmﬂQnJmumamnmm}mwaq;o
questions. Each carries 1 score. 2™ ®o ag)vime. oanommimie 1 ampod
(9%1=9) | e, (9%1=9)
1. The break-even point of a firm is 1. any moncammilent 2108-Maginasfm el
a) Minimum AVC Ragfrriaf
a) AVCues dirflae
b) TR =TC
) b} TR=TC
¢) SAC=8MC ¢) SAC=S8SMC
d) None d) pauswamymg
2. Which is a macro economic variable 2. aqmoanT crunyel coomIET e 2w ?
a) Price of output of firm a) monosamfied palairm ale
b) Supply of firm b) &y movosmmied wisome
¢) National output ¢} eauflw peaymo
d) All d) agepme

3. mp.c. of an economy is 0.4. Then it’s mps 3. sy Mg moeies mp.c.= 0.4,

13 apeemEslad aeaflenh mps

a) 0.16 a) 0.16
b) 0.8 b) 0.8
c) 1.4 ¢l 1.4
d) 0.6 d) 0.6

4. When the demand curve is rectangular 4, 22.0600B:0 HOGOBDILIR B0 aemiog

hyperbola the value of clasticity is ADEATIIR penflenans ae o
a) One a) anri

b) Greater than one b) emiat sysimat

¢} Less than one ¢) el eyoal

d) Zero d) aymio
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5. Which is real aggregate monetary
resources of India ?

a) M,
b) M,
c) M,
d) M,

Fill in the blanks :
6. NNP + Depreciation =

7. In a centrally planned economy all
economic problems are solved
by 2

8. A market is in equilibrium when

9. A firm is a ‘price maker’ under
market.

Questions from 10-14. Answer all
questions. Each carries 2 scores. (5x2=10)

10. Explain the concept of ‘liquidity-
trap’.

11. g, =200 -p; q =120 +pina
market. Calculate equilibrium price and
quantity.

12. Explain central economic problems of
an economy.

Score

5. agmosnt pomyeleos @ostmo easmmo
além guomaqy ?

a) M,
b) M,
c) M,
d) M,

allgeone aydigflanie :
6. NNP + smajmome =

1. en) e (Blaym spovy@le oo’
cujumnailed agiajo muamumles [ gpamaio
addlandlaayrnal BUSSTIENT.

8. en) meamiogo momyellmo oo oo
ag)RImYMIm @i,

9. ary monese ‘allal mlvaaenymaioms
)i E@mogaTailaien.

10 aymad 14 cuonw)gg agep sanaeymudene
B agyeim)ds. soaranilmie 2 ampad allme .
(5%2=10)
10. ‘paumpenst'agmm eprweom
culloutl e,

11. q,=200-p;q,= 120+ p agrmosemeidl
&ImIag mamiala aflawie argole
SHOEMef,

12. &ey mous‘ajumoaies @eslmaam
ool (agemed allvodledlene.
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13. Explain the concept of ‘Paradox of
thrift’.

14. Mention the main features of Great
Depression 1929,

Questions from 15 to 21, Answer any

six questions. Each carries 3 scores.
(6x3=18)

15. Suppose the price of output of a firm
rises from ¥ 25 to T 50. Its supply
also rises from 100 units to 120 units.
Calculate price elasticity of supply.
Comment on the result.

16. The cost curves of a firm is given
below.

Cost

(DO O
Score

13, ‘rumuse) aflerowossamie’agym apuawe
cullculsyss,

14. 1929 se manmmow muomienile asmajoieg
frtem s mdntd alperd]anoerl e,

15 mymad 21cuscw)gs @aioa)mmdldd agem

#lelye apanpEilel pEmme M. 860
mrilmye 3 eapod allme. (6x3=18)

15. &y muonosamiiond palqrm allel 25 ey ieid
ol 50 ayeiwonl cubauleym,. @
lmame 100 agerdigad oflond 120 ayemiigowmi
cuibad oom pusamamiond allel aeomlem
18T, BMULaTN &lel @odE W

16, s rueasamrmlad s.oiand cu@smad oo

(RBEIOTY

AC
MC

Output e

a) Correct the figure.
b) Explain the relations between the
curves.

17. What is fiscal policy ? What are its
objectives ?

18. C = 150 + 0.2Y, [ = 200 Calculate
equilibrium output of the economy.

a) alimo CamlwodE)s:.
b) rumemod marleyss sumuemd
o dleaaes,

17. agomosm wonmwe ? meaflen; el jsmob
ngEmEldo ?

18. C=150+0.2Y,1=200. ormua” au jeucrun
alloa cormjalie emajomeo @:0eme:,
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19. Distinguish between short run and long
run supply curve of a firm.

20. List out the main features of an
indifference curve.

21. Describe the market equilibrium of
firms with free entry and exit.

Questions from 22-25. Answer any three.

Each carries 4 scores. (3x4=12)

22. Describe the major determinants of
firm’s supply curves.

23. Explain the major functions of money.

24, NDP Fc = 1200 crores ; Depreciation
= 100 crores ; Net indirect tax = 200
crores ; Net factor income from abroad
= 150 crores.

Calculate :

a) GDPm_
b) NNPm_

25, Compare tax multiplier and government
expenditure multiplier.

Score

19. aqy morceamle lnomwoal didasusoel
(BN CU(BETBEE (LD TV STl

20. sy ofiqpownnmo @ miiend em Emang
el e.oigyes.

21. moomcsTaCtesi @mBLEM-Miibuam mupmimy
@188 Sarusgales quomieimocuaun
afleamosa)s..

22 aymad 25 cuenmigs a.ana)megled agem
mlayo ajormepowlal Homoe Mabajde. aoend
orilnjo 4 anpad allae, (3x4=12)

22. monosoiiod (eom e ridspal
SN S2ISEHETEaE (LNl CDEDmIBeE:.

23. wsmodo wimee)s wimemeg
aflcudlen e,

24, NDP Fc = 1200 e®:04) ; amaimome = 100
a8l ; ann atecosacdleyel = 200

a20¢l | alleanamy oflnmes argreises
cumyeomo = 150 esod] .

0BT,
a) GDPm,

b) NNPm,

25, ofleym wjsmentuie mdentd aaisial
UNEMdbCL0 MIVMAY0 6.0 .
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Questions from 26-29. Answer any three.

Each carries 5 scores. (3x5=15)

26. Inthe long run a competitive firm earns
normal profit. Do you agree ? Explain

R N

Score

26 ayentd 29 cuenm)gp caloaemgind agemelaljo
a@MERERlT pEMne Mabd:is:. aospailmie
5 aapod allae, (3x5=185)

26. sy wdlaybepy addme motcse dlbees
oawandltd mowisem aldds SMSINMY.
swsslanymmentd ? allimmardime

with figure.
aflrudlead.
27. m.p.c. of three states are given below. 27, ayed cuotrugomenagieal m.p.c. mamidlenmm.

States mpce.
Kerala 0.8
Bihar 0.3
u.p 0.4

a) Find output multiplier in each states. a) moend muomundmanieaiwie §Elarm

L1EMeRo SHDEMdh.

b} Find the effect on output of the b) S5600 MUGTUEOMATDW]e MBSO
economy when the government 100 eodlaye afloe oassial abada]
expenditure increases Rs. 100 crores 200 eMUEIMIN@IeS @l
in each state. 2LENBISYT BORC SISk,

28. Describe the features of a monopoly 28. @yEmas @emuogmilay qvafleamdnid
market. aflanisad.
29. Complete the table and draw TP, AP and 29, wgls nybodioosd TP, AP, MP agorilo

MP on the same set of axis. S0 AL EDTYEROSE QLOG.

L |1 |2 |3 |4 |5 |6 |7 |8
Tp |10 |22 {36 |48 |55 [60 |60 |56
AP
MP
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Questions from 30-32. Answer any two,

Each carries 8 scores.

30,

il

32

(2x8=16)

Prepare a chart to present the
budget components. Explain the
components.

Describe major monetary policy
instruments of RBI to control
inflation,

Describe the applications and impacts
of market equilibrium analysis with
suitable diagrams.

(Hints : Price ceiling and price
floor).

Score

30-32 cuenwgp s.alonymmglel apammlalge
pamMmEREmIMm QEMAe ag)Pmid. 80AM0

mimje 8 amyod allme.
30,

31

32

(2x8=16)

B rassameg @oailenm alobg
MRS, ~2ISHameg Allcudleans.

Mg Rjale T ol eamalmoal
RBI gaiewocflenm alsmme gatouf]
#ned lUDEnI) .

@herusg momielmooauadal{tnm
onfled (rt@irlamagio aldlemm
anpemgle allimerdedd quanswenoed
alleraoss)s:.

(rujaim : eamd milellowd, eiealmi
zqod).
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